Non-AP Calculus Ch. P1-P2 Quiz Review WS #3

Solve for x by Factoring

(”\}) 6x% — 14x = 12 | 2) 4x? =100
F ac__:tOied Form: . " Factored Form:
Solution: Solution:

3) Identify any intercepts (if any) and test for symmetry  y*=x> - 9x

' )(—intercept(s): y-intercept: Symmetry:

4) Identify the type(s) of symmetry for: 5x°y* + 3x7y® - 12x =0

5) Find the point(s) of intersection (ordered pairs!) of the graphs of the equations:
X2 +y2=5 '

x—y=1



-,

slope-intercept form: y =mx + b point-slope form: y-y; = m(x — x,)

X2—=Xq

6) Find an equation of the line (point-slope form) that passes through the points (2, — 1) and (-4, 6)

7) Find an equation of the line (point-slope form) containing the point (-1, 5) that is perpendicular to the line
2x +3y=19

8) Find an equation of the line (point-slope form) containing the point (-5, 1) that is parallel to the line
- 9x—dy+21=0- |

9)  Write an equation of the line that passes through (-3, -5) and is parallel to the liney = 1

10)  Write an equation of the line that passes through (1, 3) and is perpendicular to the line x = -2
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x-intercept(s): (O, O) (30) (30) y-intercept: (f) 0) Symmetry: X-x/s ﬁlwﬂlz’fj 3} (DY mi] mL d/

4) Identify the type(s) of symmetry for: 5x%y* + 3x"y® - 12x =0

[on:zj/n jlﬁnm‘hl[

5) Find the point(s) of intersection (ordered pairs!) of the graphs of the equations:

erp=s [ xH(x-) =5 L(x-2)(x+)= 0 —
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slope-intercept form: y =mx+b -~ point-slope form: y-y; = m(x — x;)

X2—X1
6) Find an equation of the line (pomt slope form) that passes through the points (2, — 1) and ( -4, 6)
_€--1_
“4-2 = —(x-&

Poinﬁ ( 2, '*‘t> | ov
g€ =Z(x14)

7) Find an equation of the line (point-sioi)e form) containing the point (-1, 5) that is perpendicular to the line

i?;j;iﬂ .m":-—% [ peite(,5) slope: m=7,
_ . . _ ?,_ o :m(:)(m)()
j ”)(__% 'y ml 5,_ tj j‘m - i
\ /:J’"g"*i(X-fl) |
] . |

8) Find an equation of the line (point-slope form) containing the point (-5, 1) that is parallel to the line

x—dy+21=0 ] m:% ,()bi/\-]‘:('s_.),)

-4j’—‘“7x—c’2f |
= Ix+2 | gwj,:m(x,x,)
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